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1) 22 —8z+16 = (1 —4)>
2) 4z? + 28zy + 49y* = (22 + Ty)?
3) 1622 — 25y2 = (42 — 5y)(4x + 5y)

4) 22+6x+8 = (v+2)(x+4)
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(5) 2% —bzy + 6y* = (v — 2y)(z — 3y)
(6) 2% —2ax —15a*> = (v — 5a)(x + 3a)

(7) 3a% —2zy —y* = 3z +y)(r —y)

(8) 422+ Taz — 2a® = (dz — a)(z + 2a)

9) z*—522+4 = (22— D(a?—4) = (2 — )z +1)(z—2)(z+2)
(10) z*—81 = (22— 9)(22+9) = (z — 3)(z + 3) (22 + 9)

(11) 2*+8 = (v +2)(z* — 22+ 4)

(12) 2® —64 = (x —4)(2? + 4z + 16)

(13) 23 —4x+3 f(z)=2—dx+3 EL &, f(1)=0. DT, f(z) F. 2 — 1 ZRBUTFK D,
23 —dr+3=(z—1)(z*+z—3)

(14) 2*+ 32> +40+2 f(x) =2 +32 +4x+2 £ EL &, f(—1) =0.
WDZIZ, f(z) 1E o+ 1 Z2RBUZRED, 23 + 322 + 4o+ 2 = (v + 1) (2 + 22 + 2)



